Cl2] =5} 1™ |-
|_|"£'I o Hd o7
1. 20 9] oF50] S H3t A g o wf, [ [ote]l € | 4. 11 olate] Ay FollA 3 S 2 Yr3lS mf Y7t
7157} Eol7tof s A2? 2 7 RS AG T o, o2 F B2 AS BT
=H?
® 3[ ]4 @ Al 4 ® 6] |4
®2¢A @5€A ®7¢A
@ 1] ]4 ® 7] ]A ¢ ?
@ 10eA ®11¢A
2. o FollA Aol obd A& BF IEW?
5. F F3t A {1,3,5,7},B = {1,3,8} & u,
@ 198190 Bjojit Apgo] = (A-B)C X, X - A =02 & TZoks A% X 9
© eme Ao mel =2
® 10HTF 2 49 o] @1 @ 2 ® 3 @ 4 ® 5
@ 22 AAao] mYd
6. —‘?@%‘A B ° tiste] n(A4) =13,
n(B)=9,n(ANB)=5<Y W, n(AUB) &7
3. o T FREAE 5Tt ok A2
_ 1B @17 ®19 ®21 G223
@ {z|ze 9o 4}
@ A= {z|ze 4°]5t2] 2AHAS}
® {z |2+ 10 °]5}] &5}
7. 40 o] Y Foll A E Fotsh= el 17 1, AE
@ {o | 2= 49 &F5} 312 Folshe 8H4o] 26 ol L, 5 o Folst o]
® A= {z|at9uute] B 5 golrk. Angt ook oY =7
D 109 @ 1119 ® 129
@ 133 ® 14




8. AT A = {1,2,3,{2,3},{4}} € W, &2 F 24
Fe A2
®1e4 @ 3¢ A ® 4¢ A
@ {41 A ® {2,3}c A

n({0}) — n(@) 9 =

9. n({zlz= £E019 BAHY}) +

Fafolat

10.0h5 H7] & feto] ofd A2 25 18 227

Q@ 8dofl gt shy

92 st 4
CRERD

@@@@@@@

00606 0060666 006606

® 060 006.6

115H 272 2000 39 59 Selutete] A9 A
2)27].8/%) 117).&-& hehdl ZAo]c,
= 4%

A={z|z¥E & HAA7|0] FEHT} ¥ 29},
B={z|zx 4 H17]2o] YAET £ JFET
IA-O 1 0:1 }

of tiste] AuBE?

=0t o5 B8/8:

_ N&/27 2
MHI5S
g 2% ag
. G
HZE -

@ (A= /747, 5, A, Adlb =, =5 == }
@ {H=/ 37, T, 5, 9
=5/ 5k}

® {FH, 55, M, Adls &=, e
AT}

[e)
, 2o /| 5k,

12.4 A A = {2 | 2= 129 9F5}, B = {z |
e 1280 Z2 &5} C = {2z | 2 12 x 2z =
15 W&ot A} ofl tiske] n(A) +n(B)+n(C)

£ otofet




® 0c{o}

@ {z,y} ¢ {y,x}

® {a,b} C {a,b,c}
@ {o} C{2,4,6}

® {1,3,5} c {1,3,4,7}

1t

14. 344 U ¢ 1 F #2548 A, B 7o 2=
o, A°n B BE 940 F& Fotolet
B7]
U = {ala= 10 o]5+e] A%
A={2 4,5, 8}
B¢ ={2, 4, 6, 7, 9}

Lo

g

=

15.5% At
A= {z | 23 100 °]4F 200 o]} 159] w4},
B ={z |z 80 Bt} 22 29] v} & of,
n(B) —n(A)=?

® 10 @ 14 ® 19 @ 27 ® 32




